

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

ORDER #004938

MIMI RIEDER 323-899-3116

Order Date: May 10, 2024 Due Date: Upon Receipt

PO: Shipping Address: 516 S Hudson Ave Los Angeles, CA 90020

EVENT DATE: MAY 18TH, 2024

TRUSS SET UP ONLY - WEDNESDAY AFTER 10AM

FIRST SET UP THURSDAY AT 10AM

RETURN SATURDAY AT 8AM TO FLIP THE PATIO ***MUST BE SET BY 10AM***

**PICK UP SUNDAY BETWEEN 9AM -10AM **

Description		Qtty	Price		Total
Friday Night Lui	nch				
	Banquet Table, King	3	\$22.00	Т	\$66.00
	Entangled Dining Chairs, Mint	60	\$18.00	Т	\$1,080.00
	Blush Pink Lamoure 4ft Linens FOR WASH TABLE	1	\$28.00	Т	\$28.00
	Patio Mushroom Top Heater	4	\$85.00	Т	\$340.00
	Propane Tank	4	\$30.00	Т	\$120.00
		Total	Friday Night Lu	inch	\$1,634.00
SATURDAY LUN	СН				
-	Yuma Dining Table, White - 60" Rnd	4	\$175.00	Т	\$700.00
	Banquet Table, King RECYCLED FROM FRIDAY NIGHT LUNCH	2	\$0.00	Т	\$0.00
	Melodia Water Goblet, Pink Tint	60	\$2.50	Т	\$150.00
V	Melodia Water Goblet, Moss Tint	40	\$2.50	Т	\$100.00
	Wine Glass, White And Green	40	\$1.25	Т	\$50.00

Description		Qtty	Price		Total
	Scalloped Charger, Gold	30	\$6.00	Т	\$180.00
		Tot	al SATURDAY LUN	ЮН	\$1,180.0
GARAGE PAT	0				
	Blush Pink Carpet Cover, 30ft x 40ft	1	\$2,520.00	Т	\$2,520.0
	Truss Structure with Blush Pink Covers, 30ft x 40ft x 12ft Height	1	\$5,400.00	Т	\$5,400.00
	Fabric Treatment Panel (5) Blush pink	1	\$2,500.00	Т	\$2,500.00
	Sophia Small Version Bar, Mint Color Benjamin Moore veranda view 541	1	\$1,500.00	Т	\$1,500.0
	Mint Bars, 8ft Benjamin Moore veranda view 541	3	\$375.00	Т	\$1,125.00
	Los Angeles Back Bar, Mint 4ft Benjamin Moore veranda view 541	1	\$175.00	Т	\$175.00
	Mint Bar, 6ft Benjamin Moore veranda view 541	2	\$250.00	Т	\$500.00
	Carson Cocktail Table, White White	4	\$110.00	Т	\$440.00
			Total GARAGE PA	TIO	\$14,160.00
KITCHEN PRE	P AREA				
	Hedge Panels, 4' x 8'	1	\$456.62	Т	\$456.62
	White Astroturf Cover, 12ft x 18ft	1	\$270.00	Т	\$270.00
	Hedge Panel, 4' X 8' TO BLOCK CATERING AREA	6	\$150.00	Т	\$900.00
		Total	KITCHEN PREP AI	REA	\$1,626.62
BACK YARD P	OOL EAST SIDE				
	Entangled Barstool, White	16	\$26.00	Т	\$416.00
	White Communal Lacquer Tables, 6ft	2	\$175.00	Т	\$350.00
	White / Pink Stripe Umbrellas with Tassels	2	\$75.00	Т	\$150.00
		Total BACK Y	ARD POOL EAST S	IDE	\$916.00
POOL WEST S	SIDE				
	Banquet Table, 4ft WASH STATION AREA	1	\$10.00	Т	\$10.00

escription		Qtty	Price		Total
	Mint Bars, 6ft Benjamin Moore veranda view 541	2	\$250.00	Т	\$500.00
	White / Pink Stripe Umbrellas with Pink Tassels	2	\$75.00	Т	\$150.00
	Carson Cocktail Table, White	2	\$110.00	Т	\$220.00
		Tot	al POOL WEST S	IDE	\$880.00
ENTER GRASS	AREA				
	Mint Bars with Awning, 8ft FOR FOOD DISPLAY / Benjamin Moore veranda view 541	2	\$475.00	Т	\$950.00
	Mint Bars with Awning, 6ft Benjamin Moore veranda view 541	2	\$450.00	Т	\$900.00
	Carson Cocktail Table, White White	4	\$110.00	Т	\$440.00
		Total CENTER GRASS AREA		REA	\$2,290.00
ATIO AREA					
	Yuma Dining Table, White - 60" Rnd RECYCLED FROM SATURDAY LUNCH	4	\$0.00	Т	\$0.00
	Entangled Dining Chairs, Mint RECYCLED FROM FRIDAY NIGHT LUNCH	60	\$0.00	Т	\$0.00
	Mint Bar, 8ft Benjamin Moore veranda view 541	1	\$375.00	Т	\$375.00
	Los Angeles Back Bar, Mint 4ft Benjamin Moore veranda view 541	1	\$175.00	Т	\$175.00
	Truss Structure with Blush Pink sleeves, 22 x 32 x 12ft Height	1	\$5,960.00	Т	\$5,960.00
	Blush Pink Fabric Treatment for Truss	1	\$1,600.00	Т	\$1,600.00
	Priscilla Sofas, Mint	2	\$350.00	Т	\$700.00
	Nixon Coffee Table, White/gold	2	\$125.00	Т	\$250.00
	Priscilla Lounge Chairs, Mint	2	\$175.00	Т	\$350.00
	Priscilla Lounge Chairs, Blush Pink	2	\$175.00	т	\$350.00
	Flischia Lourige Chairs, Blush Flitk	2	\$175.00	Т	\$550.00

Description		Qtty	Price		Total
CABANA					
	Priscilla Sofa, Blush Pink	1	\$350.00	Т	\$350.00
	Priscilla Lounge Chairs, Mint	2	\$175.00	Т	\$350.00
	Priscilla Lounge Chairs, Blush Pink	2	\$175.00	Т	\$350.00
			Total CABANA		\$1,050.00
Services					
	Trucking Fee	2	\$275.00	Т	\$550.00
	Installation Fee	1	\$2,260.00		\$2,260.00
	Installation Fee (Second Day - Saturday Flip)	1	\$450.00		\$450.00
	Breakdown Fee	1	\$1,950.00		\$1,950.00
	1.5% WC Fee	1	\$603.43		\$603.43
	Storage for Clients Furniture PICK UP AND RETURN / 1 umbrella, 3 patio tables, 1 sofa, 2 chairs, 1	1	\$450.00		\$450.00

coffee table , 4 lounge chairs, 10-12 patio chairs

Notes

Total Products:	\$33,496.62
Total Labor/Services/Misc:	\$6,263.43
Taxes :	\$3,234.43
Discounts:	(\$0.00)
Total:	\$42,994.48
Payments:	(\$42,994.48)
Balance:	\$-0.00